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OSs BB sSHE B8 207,900
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03 AIMZ=XHR=EH| 18,000 16,200 1,800
OZEEEANM JRFEH|
18,000,000& = 14! 18,000
301 LetEag 8,100 8,100 0
08 eIBI=&E 0l 8,100 8,100 0
OZHEEHEAUXTHANHI 270,000& =+ 302l 8,100
22 WX A5 122,130 122,130 0
201 Let2dH| 122,130 122,130 0
01 AtE22/Hl 122,130 122,130 0
OoEH=E= 150,000 * 25 = 12& 3,600
O322 w2kl #5 50,0008 » 125 * 123l 7,200
O&ZNME MERS 111,330
O)=-3IPN 13,500 * 13IHAL = 5% » 128 10,530
OXI&X 10,0003 * 21JHAL = 402 * 128 100,800
*EEE=E ME 204,132 539,632 A 335,500
eI AN &2t 141,300 141,300 0
201 Let2d| 141,300 141,300 0
01 AtE22(H] 100,800 100,800 0
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Ol[3322%LHAI 5,940
OHTE QUEY SMAER
135,000& = 12& 1,620
oM MIIMER 360,000& = 123 4,320
O[A&EEI=XI8l] 5,850
OLEDE & & = X2 +=H|
2,250,000 * 20 4,500
OZZEEEH Sl 1,350,000 * 13 1,350
307 GI2+0I A 11,000 150,000 A 139,000
02 BltAAE L 11,000 150,000 A 139,000
OgsZ BN (222
11,000,000& = 14 11,000
405 AHoHESHI 2,000 148,500 A 146,500
01 MHARESF=H 2,000 148,500 A 146,500
ORmEE BUIIN B AR
1,000,000& * 2K 2,000
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& 25,000
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= 25,000
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EPENEEES 50,000 50,000 0
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01 At 2l 1,400 0 1,400
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307 BI2HOI 15,000 15,000 0
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O21YL T 2 2 15,000,008 * 14 15,000
EEE PO 20,000 20,000 0
307 BI2HOI 20,000 20,000 0
RPN 20,000 20,000 0
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OBMSISEREI L HRFF ol
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Ogol2ssn 2AXT Ol
20,0008 * 201 652 2,600
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S 29| 41,672 41,672 0
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ogletste 253,0008 * 12% 3,036
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S HE - S(EH) - NRAY - BES Of) &t o4 e HI RS2
OYS A M3 L SHRD
90,000& = 12& 1,080
O[AMEEBIRXIYI] 3,600
Ozo4a LsEHl =X
3,600,000& * 14 3,600
202 O4Hl 14,200 14,175 25
01 =Yl 14,200 14,175 25
OFRN2ZE WAL 20,0008 * 521 » 142 14,200
203 ¥R =&l 3,000 0 3,000
04 BEASIZFFEH 3,000 0 3,000
ORN2IHRFAHI 250,000& = 12& 3,000
W |=3| 22,117 22,090 27
201 LetH| 11,317 11,317 0
01 AtER22/Hl 10,660 10,660 0
Olget=gHl] 6,813
ORN2Z SUAL 5,913,000& * 14l 5,913
o&olomztdinl SAEX & ARF 7Y
90,000& * 2& * 53| 900
Ol=tl] 3,847
ORN2Z SHUAL 3,847,000& * 14l 3,847
02 5234l 657 657 0
Ol332ZLNA] 657
OYRFL RELS= 7302 * 90004 657
202 O4Hl 10,800 10,773 27
01 =Wl 10,800 10,773 27
ORN2ZE SUNAL 20,0008 * 421 » 1352 10,800
SNEFII=3Y| 13,980 13,986 AB
201 Let2d| 7,560 7,560 0
01 AtE22(Hl 7,560 7,560 0
Olger==&Hl] 3,780
ORN2ZE SHUAHL 3,780,000& » 14 3,780
ol=l] 3,780
OFRN2Z SHUAHL 7,0008 = 321 = 180 3,780
202 O4dl 6,420 6,426 AB
01 =AY 6,420 6,426 AB
ORNMEE SUHA 20,0008 = 321 » 107 6,420
rSRaa=g=wlE_t= 1] 16,970 17,047 NTT
201 Let2IH| 9,290 9,298 A8
01 AtE22/Hl 9,290 9,298 A8
Oolget=g4l] 4,649
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SA: XA
A HY2IFYI(MRLA
chel: Jl2&dl =L
S " . O (3 HEAY - BHH2 AF ol &EIE =
ORNEZZE & 4,649,000& * 14 4,649
Ol=&tl] 4,641
ORN2ZE & 7,000& * 321 * 221 4,641
202 O4H| 7,680 7,749 269
01 =LHAbI 7,680 7,749 269
ORN2E SN 20,0003 * 321 * 128¢! 7,680
MRES (XL 946,000 845,000 101,000
HEHH K= 946,000 845,000 101,000
isg2edIIZNA 946,000 845,000 101,000
702 J13HES 946,000 845,000 101,000
01 JI3&&E3 946,000 845,000 101,000
ogeeloratdlol
38,100,000& = 1004t 381,000
OEEsuss &3
42,500,000& * 4JH&f ) 170,000
Oty & 2,500,000& = 649! 160,000
O3NS WAL X 47,000,000& * 5JH&f 235,000
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